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1 A scalar field is harmonic in a given region, if its Laplacian 1s ......... .
(A) oo B) -1
(C) 1 D) 0 )
2 Stokes’ Theorem relates, ........ccccceeeenen. integral toa ...c..cooceeeiiiniin. integral.
(A) volume, surface (B) wvolume, line
(C) line, surface (D) any of these
3. Magnetic vector potential for volume current is expressed as ................. :
[ podde [ Haddo
(A) ) dnr (B) 4 4mr?
J‘ Hodduv J‘ Uoddv
(&), . 2nr D) onr?
4. According to the Law of Retiaetion, s 4
Mo tan 09,
(A) tan 04 = Pv—1 tan0, (B) tan 0, = Uilo
(C) tan 64 = :‘-a_lnl‘g; (D) tan 04 = ﬁ_; tan0,
B. Dot multiplication c/z;.c/t; is eqﬁal ¢ JR— ....................... .
. (A). sin ¢ ~(B) . cos O
Q) —sin p D) —cos ¢
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6. Poisson’s equation is given by ......ccccoevueeennnn.... .

P P
@A) vV = - ° (B) V&V = _*
o (o]
(C) V3V = —pe, D) V3V = pee,
7 Brewster's angle is given as tan Og = .ceswiesassassmvssssives :
o N 5
(A) £ (B) £
1.
(C) &1 (D) @
8. A family of arcs is obtained in the Smith chart by varying normalized reactance
in therange of s nsnsss .
(A) -1to O B) O0to1l
(C) 0 to = (D) —oo to oo
2 ) Conductance per unit length of a coaxial transmission line is given
DY e
2noc 2me
A) 1n(é) (B) ln(é)
a - \a
L 2no 2me
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10. In the lattice network shown in Figure-1, the value of R (in Ohms) for the

maximum power transfer to the load will be :
(A) 5 (B) 6.5

) 8 D 9

7 ohm

AV

6 ohm
5 ohm

R
9 ohm

%

Figure-1
11. A two-port network is defined by the relations :

Then Z,5 (in Ohms) is :

A) -2 B) -1 ‘
o 1 - TR = w2 s 1
© -5 ~
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12. The voltage ratio transfer function of an active filter is given by :

Vi(s) s*+ec

Vo(s) s2+as+b

The above transfer function is for a :

(A) Low pass filter (B) High pass filter

(C) Band pass filter _ (D) Band reject filter
13. An RLC resonant circuit has a resonance frequency of 1.5 MHz and a

" bandwidth of 10 kHz. If C = 150 pF, then the effective resistance (in Ohms)

of the circuit will be :
(A) 29.5 (B) 14.75
C) 94 D 4.7

- 14. An initially relaxed RC series circuit network wifh R = 2 M-Ohm and
C = 1 pF is switched on to a 10 V step input. The voltage across the capacitor

after 2 seconds will be :
(A) Zero | (B) 368V
C) 632V D 10V

15. The value of boost factor is equal to unity when TCSC (Thyristor Controlled

Series Capacitor) is operated in :
(A) Capacitive boost mode (B) Inductive boost mode

(C) Blocking mode (D) Bypass mode
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16. The characteristics equation for a third order system is :
S + 22 +4s + k=0
For a system to be stable, what should be the value of gain 2 ?
(A 2<k <8 B) 0<k<?2

C) 0<k <38 M) 0< k<4

17.  If the penalty factor of bus 1 in a two-bus system is 1.25 and if the incremental
cost of production at bus 1 is Rs. 20 per MW-hr, the cost of received power

at bus 2 is :

(A) Rs. 250 per MW-hr (B) Rs. 160 per MW-hr
(C) Rs. 62.5 per MW-hr (D) Rs. 25 per MW-hr
18. According to the fuse law, the current carrying capacity is directly

proportional to :

(A) diameter | (B) (diameter)l-®
. O 5 1
(C) (diameter)" (D)
‘ diameter
19. An over-current relay, having a current setting of 12.5% is connected to a

supply circuit through a current transformer of ratio 400/5. The pick-up value

of the current in Amperes is :
(A) 6.25 (B) 10

(C) 125 " (D) 15
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